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Stream 1
3 | Introduction to Python BPLCK105B/BPLCKBI105 |
Programming |
4 | Introduction to Electronics and | BESCK 104/BESCKC104 i
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Second Semester B.E./B.Tech. Degree Exnm'fnati(m, June/July 2024

Time: 3 hrs.

Mathematics - Il for CSE>Stream

Note: 1. Answer any FIVE full questions, chooslng éﬁ’[‘ ? Jull question from each module.

2. M : Marks, L: Bloom’s level , C: Cour.u' puicomes.

s
b

&3° Max. Marks: 100

vector Fx(4xy Z’)i +2x° _] -3xz’k.

3. VTU Hand book is permitted. w3 ,‘:;4-“,{"&’:;
Modulg &1 7 L 81
2 x Xty 3 ‘{2:7 L2 C
a. | Evaluate [ [ [e**?dzdydx . _g:::*.\;l’v _?_;t'if';j“f
00 0 ”5- N 7
A3 40 or ”
',.“:: “&v da I\fu L3 CO1
b. | By changing the order of.1ftegration evaluate I jmydydx
»g{”” o xiar
fo “y et _w‘:. Lz C01
€. | With usual nofamSn prove that
' OR
{ ! “:k; ‘ ,. il L3 COl
' a. | Evaluate ! f 2Jx? +¥2, d:(dy by changmg mtopolar coordmates v
i 0 .C ?y ,9_"" i _,
! ey ol i
b. | Find the area bounded pchvecn the parabolas yT 4ax and x* = day by L2 | CO1
double integration. . * ‘a %«
“.‘-Ir 7 ?h\ ﬂ - i:-; ;%f
¢. | Using Mathematlcﬁ’l tool, write the t6 find the volumc bounded by the L3 | CO5
sphere x> + yz +Z=a"by double, mtegratlon
S, TS «f»"““-’e
£ § TModule—2___©%”
a. | Find the duectnonal derlvan{q_,o'f(b =xy’ + yz awhe point (2, -1, 1) in the L2 | CO2
dlr&:tmn of the vector i+ 23+ 2k. sy
‘\% ?\ A\,‘:"?‘
: K L2 | CO2
b. | Verify whether | the yeétor F= —-—)-'L-l“ls both solenoidal and irrotational.
[N {J' n"’
c. | Prove that the cylindrical coordmate system is orthogonal, L2 | CO2
4
v('f_?’?y OR
a s ?=V(x’+y’+z’—3xyi) find divF and curl F. L2 | CO2
b. | Find the angle bg.@)cen the normal’s to the surface x'yz = 1 at the points L3 [ CO2
-1, l)and(l - - ).
c. | Using mathemaucal tool wnte the code (o find divergence and curl of‘ the L3 | CO5

Ve | 1of3
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;_::-.*.,._,__“ ’ ' '__—D‘IAqulo -3 — . Z—
Q.5 la. [ Let W be a subset of \’n(R) “consisting of vectors of the form (n u b) where | 7 | 1.2 CO3
the second component is the squarc of the first. Is Wa mlwpaoc of Vi(R).
RITE “be the vector space of real pnlynumml ﬁmulnﬁq of degrec < n. |7 12| CO3
Verify that the transformation T : Py = Py dcﬁncd by l(ux +bx+c)=
(a+ b) x +cis lincar.
1. | Find the Kernel and range of the lincar transformation T : R — R defined | 6 | 1.2 | CO3
by T(x, Y, 2) = (x + Y, 2).
— OR'
Q.6 |a. Dctcrmmc whether or not cach ofthc following x; = (2, 2, l), x2=(,3,7,17|L2 co3
=(1, 2, 3) forms a basis in R
b. | Verify Rank-nullity thegremfor the transformation T R S Rodefined by |7 | L2 | CO3
T(X,y.2)=(x+2y— z.y+z,x+y 2z).
¢. | The inner product.of thc polynomials f{t) =1+ 2, g(t) = 3t-2impt)is|6 |L2|CO3
1f E
given by <f, g'>u="'[f (Dg(tydt. Find D <rg> i) [If]  iid) lell
AR s 0 >
Module 4 :
Q.7 | a. | Find an approxlmate root of the equation cosx = 3x — 1 correct to four | 7 | L2 | CO4
decimal places using chula FalS1 method bclwcen 0.5 and 0.7.
b. | The area ‘A’ of a circle of’ dlamctcr ‘d’ is glvcn, by.the following table: 7 |L2 | CO4
d- ] 80 | 85 | 90 .4 95 [ 100 )
A: | 5026 | 5674 6362 7088 | 7854 ‘
Using appropriate Newton's mterpolauon formula for equnspaced values of
x, find arca of thc circle corrcspondmg to the diamcter 105,
g ]
6 | L3 |CO4
c. | Evaluate I—I———dx by Slmpson s 1/3" rule by consxdcnng 10 sub
mtervals Hence find an approxlmatc value of' logS
) OR
Q.8 |a. Fmd the real root of xlog,,x =12 correet to four decimals that lics near | 7 | L2 | CO4
2.5 using Ncwton Raphson method Ad
b. | Fit a polynomnal for the followmg, data using Newton's divided difference | 7 | L2 CO4
formula: i
x4 |-1]0[2] 5
y: 124533 (5]9]1335
y
ps 6 |L3|CO4
c. | Use lrapemulal rulc to find Ic" dx by taking seven ordinates.
20f3
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Module - 5 Y%,

Q.9 [a. | Employ Taylor's serics method to obtain approximate solytion at x = 01| 7 |L2|CO4
and x = 0.2 for the initial value problem % =2y+3c", y(0)1= 0.
X -
b. | Apply Runge-Kutta method of fourth order to ﬂ,nd‘gn approximate solution [ 7 | L2 [ CO4
at x = 0.1 given :—y-=3x+y/2,y(0)= T
X fo @
¢. | Apply Milne’s predictor — corrector méthod to solve thc dquation |6 L2 | CO4
(/ + dy - x’dx = 0 at x = 1 given y(0) = 1, y(0.25)'= 1.0026,
y(0.5) = 1.0206, y(0.75) = 1.0679.f W;
~_OR 5.
Q.10 | a. | Apply modified Euler’s method to find solution at x =,0.1'by takingh=0.1 | 7 L2 [ CO4
giveny = x*+y’, y(0) =0, & o
. L e | : dy y*-x% ° |7 |L2|CO4
b. | Find an approximaté solution of —==—=,y(0)=1 at x = 0.2 using
Runge-Kutta method of order four. ey ?
€. | Write the mathematical tool code to solve g—z= x?+y, y(0) = 10 using ¢ |13 €O
X ¢
| Tavlor's series method at x = 0,1(0.1)0.3. Consider the terms upto fourth
dagree. ' P
* % % Y & -
AF y
; ;‘v‘_‘
\
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First/Sccond Semester B.E./B.Tech. Degree Exantination, June/July 2024
Applied Chemistry for.vCSE Stream

"N Max. Marks: 100

USN BCHES102/202

Time: 3 hrs, ’
Note: 1. Answer any FIVE full questions, clt:)bsi;r}; ONE full question from each module.

2. VTU Formula Hand Book is permitied.
3. M : Marks, L: Bloom 's level , C: Colirse outcomes.

Module - l “ M| L C

— .
Q.1 |a.| What are clectrochemical sensors? Explain the principle apd-working of |07 | L1 | COIl
electrochemical sensor. i .
b. | Explain the principle, working and any two applications of optical sensor. _| 06 | L1 | COl |
. | 'What is Quantum Dot sensitized solar cell? Explain the construction and | 07 | L1 | COIl
working of Quantum Dot sefsitized solar cell. v 2
P I OR s
Q.2 | a. | Explain the detection of bio-molecule ascorbic acid using disposable sensor | 07 L1 | COl
and also write the electro oxidation reaction. Y
b. | Explain the working principle of electrochemical gas sensors for the | 06 | L1 | COI
detection of SO, and NOx . —_
c. | Explain the_construction and working ‘of Li-ion battery. Mention any two 07 | L1 | CO1
applications: e ¥
Module -2 Ll ,
Q.3 [a. | What are memory dcvices? Explain the classification‘of electronic memory | 07 | L2 | CO2
devices. e o ¥
b. | Define optoelectronic device. Explain the, -, working principle” of | 06 L2 | CO2
optoelectronic device. -, ud I L3
¢. | What arc liquid crystals? Explain the classification of liquid crystals. 07 | L2 | CO2
A ? OR-. %/ 3
Q.4 | a. | Explain the types of organic memory “devices by talking, ’p-typc and n-type | 07 | L2 | CO2
semiconducting materials. Tans
b. | Explain any=three properties an’dfapplications of ‘palythiophene (P3HT) | 06 | L2 co2
suitable for '(')ptoelectronic devices! 5
c. | What-is QLED? Mention afly three properties and applications of QLED. 07 | L2 | CO2
i ~ . % Module-3 "
Q.5 | a. | Define metallic corrosion, Explain electrochemical theory of corrosion. 07| L3 | CO3
b. | A thick steel sheet of area 400 inch’ is exposed to moist air. After 2 years | 06 | L1 | CO3
of period, it was found to experience a weight lost of 375g duc to corrosion
if the density of steel is 7.9 g,/cm3 , calculate CPR in mpy and mmpy.
¢. | What are reference electrodes? Explain the construction, working and | 07 | L1 | CO3
applications of calomel electrode.
.~ OR
Q.6 |a. |What is galvanization? Explain galvanization of lron. Mention its { 07 | L1 | CO3
applications. .-
b. | What are concentration cells? Calculate the cell potential of the following | 06 | L1 | CO3
cellat 298 K. 7=
Ag | AgNO;3(0.005M) || AgNO; (0.5M) | Ag
c. | Explain the principle and instruction of conductometry taking estimation of | 07 | L2 | CO3
weak acid usifig a strong base as an example.

, PRSLIT
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consumers, recyclers’ and statutory bodies m,;management of Exwaste

. Module — 4 ]
Q.7 [a.[In a sample of a polymer 20% molecules have ,mdh..culdr mass | 07 | L3 | CO4
15.000g/mol, 35% molecules have molecular mass 20000g/m01 Calculate
the number average and weight average molccular mass ‘of the polymcr.
b. | Explain the preparation of Kevlar, Mention any four“applications. 06 | L2 | CO4
¢. | Explain the generation of hydrogen by Alkalme water clectrolysis wnth a|07|L2|CO4
neat labelled diagram. Y
OR %) Y
Q.8 |a.| What arc conducting polymers? Explam the conduction mcchamqm in|[ 07| L3 | CO4
polyacetylene through oxidative dopmg technique. Mcntlon any two
applications. B, &
b. | What arc PV cells? Explain thec constructlon and working of photovoltalc 06 | L2 | CO4
cell. :f ”
c. | Explain the generdtlon of vhydrogen by proton ex%hange membrane | 07 | L2 | CO4
electrolysis. G 3 %y
Module — 5 ‘\,
Q.9 [ a. [ Define E-waste. Explain:the sources and composition of E-waste. 07 [ L2 | COS
b. | Explain the ill effects’ of materials uecd m manufactunng clectrical and | 06 | L2 | COS
electronic products. ) e
c. | Explain pyrometallurg,lcal process of extractlon of E-waste. 07 | L2 | COS5
% OR,
Q.10 | a. | Explain the extraction of gold from E:waste. e 07 | L2 | CO5
—— : — T
b. | Explain direct recycling o%ﬁ@ste. . % ’&é‘\y 06 | L2 | CO5
c. | Write a brief notc onﬁrolc of stakcholdcrslﬁfor example, .,produccrs 07 | L2 | COS
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BPLCK205B / BPLCKB205

Sccond Semester B.E./B. Tech, Degree B xnm’limtiun, June/July 2024

Introduction to Python Programmlng

F

Time: 3 hrs. \ Max. Marks: 100
Note: 1. Answer any FIVE full questions, chousing ONE full question from each module.
2. M : Marks , L: Bloom'’s level , C: (' mlrse outcomes. A
Module = I . M| L C
Q.1 | a. | Explain with example print( ), inpul('.)‘dnd len( ). - 6 | L2 | COIl
b. | Explain elif, for, while stdtement in python with example. o N 6 | L2 | COI
¢. | Develop a program to gem.ratc Fibonacci sequence ¢ of Lt.ngth(N) Read N| 8 | L3 | COl
from the console. '
— 1...;,._ S O.R ' ———
Q.2 |a.| What are functuons" Explain python functlon with parameters and return | 6 | L2 | CO1
statement. o Ry, 7
b. | How to h‘;indl.e exception in python with example. ) 6 | L2 | COl
c. Explam Local and Global scope, w:th variables for cach y 8 | L2 | CO1
Module 2 Vo e e
Q.3 | a. | Explain the use of in and ﬁot in operator.in list \yl',ugb)(amples &}' 6 | L2 | CO2
b. | Explain negative lndexmg, slicing, mdex( ) append( ) removc( ), pop( ),| 8 | L2 | CO2
insert( ) and sort( ) with suitable cxample 4
c. | Write about Mulable and lmmutablc data typc in list. e 6 | L2 | CO2
. OR AB
Q4 |a. Explam lhc following list methods with examples, ° 10| L2 | CO2
i) index () i) append(, )=, if) insert() .
_w) sort() v) rcvusu() "+ vi) List wncalcnati’on and Replication.
b. lDevelop a program fo read the student detalls Tike Name, USN and Marks | 10 | L3 | CO2
»| in three subjects: ‘Display the student detalls total marks and percentage
with sunablc mcssages &5
€ & :‘“r'
a2 “Module -3
Q.5 | a. | lllustrate thh cxamplc opening of a life with open( ) function, reading the | 10 | L2 | CO3
contents of the file with rcad( ) and writing to files with write ().
b. | Explain how to save variable with the shelve module. 10( L2 | CO3
~.'V_l’-&

o lof2
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o

OR
Q.6 | a. | Explain the following string methods with cxamples. 10| L2 | CO3
i) isalpha( ) ii) isalnum( ) iii) isdecimal() iv) Isspacc() ‘v) istitle( ).
| { b
b. ’ Explain about in and not in operators in string. ~ _», * 5 |L2| CO3
{ ¢ | Explain about pyperclip module. : 5§ | L2 | CO3
l o £ 3
Module—4 v oy
Q.7 |a.| What are Assertions? Write the contents ‘of an assert statement. Explam 10| L2 | CO3
them with examples. e
\ .-_-."1 v
b. | Develop a program with a functxon named DivExp Wthh takes Two | 10 | L3 | CO3
paramcters a, b and returns-a, valuc c(c = a/b), write suitable assertion for
a> 0 in function DivExp and rdise an exception for when. b =0. Develop a
suitable program which reads two values from the console and calls a <
function DivExp. . &2 .
[ OR
Q.8 | a. | Explain about ﬁleﬁs&and folders can be coplcd using shutil module. 10| L2 | CO3
b. Explam about chug control window. 10 (L2 | CO3
' = - Module -5 Ay
Q9 |a. Explam about class and Ob_]CCtS‘ ‘ o~ 10 | L2 | CO4
Oy
b. | Explain about pure function and modifier. y ’ 10| L2 | CO4
j (tL gy ~ "\‘7 > A:\“‘Jw
&n ’ OR o hj/ \‘:
Q.10 | a. | Explain the (.onc?t of prototyping Vs planmnw =g 10| L2 | CO4
b. | Explain _init_ and ~ str_methods wuh‘ﬁxgmples : = 10| L2 | CO4
y 8, y
s & -, 5
& B ener
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BESCK 204C/BESCKC204

Sccond Semester BLE/B.Tech, Degree quumhmtion, June/July 2024
Introduction to Electronics and Communlcation

Time: 3 hrs. = Max. Marks: 100
Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.

2. M : Marks , L: Bloom’'s level , C: Course otitconies.

Sy ,

Module = 1 M[L]| C
Q.1 [a.|Draw the block diagram of Regulated power supply and mention thc| 8 | L2 | COI
function of cach block. {:’éﬂ b @ : S pe—
b. | With the use of circuit didggram~and waveforms, explamrthc working of [ 8 | L2 | CO1
Half wave rectifier with mpacxtor filter. [
¢. | Mention advantages of—ve feedback. - 4 | L1|COIl
| y ’ 7
P ; OR
Q.2 |a.|Listoutand expla’inthe various types of ampliﬁers. 8 | L1 | COl
b. | With neatdtag‘am explain the concept ¢ pf negative feedback amplifier. 7 | L2 |CO1
V"— ,’,y.,f
c. Wdtqanotc on Multistage ampllﬁers. 5 | L1|CO1
*Modu]e 2 > ‘
Q3 | a. | Explain the working of RC@:‘- ladder neMorkosglllgtor ;* 6 | L2 | CO2
\
b. | Define Multivibrators. - Explam the worl-.mg of single st'ag,e astable | 8 | L1 | CO2
multivibrator wnth dlagram ;
c. | Explain its workmg of Weinbridge, Osmllator with diagram.< 6 |L2| CO2
) -u} e -
d OR &)
Q.4 | a. | Define ;he following terms with.réspect to the Op_, Amp i) CMRR 10| L1 | CO2
i) Slew rate iii) Supplyvoltage rejection ratio
iv) Input offset voltage “:. V) Input offset current.
b. | Explain how Op_ Amp can be used as w0V 10| L2 | CO2
i) Voltage followcr i) lmcgrator ?
e -A.",_:‘? A Module 3 T
Q.5 | a. | Convert #i) *3568)10= ()2 A=iD). (3FD)is = (2 10[ L2 | co3
iii) (llOll]%—(")w iv) L (1234)10=(Ms V) (5678)10=(Dss.
b. | Write any four Boolean theorems and Identitics. 10| L1 | CO3
, OR
Q6 | a. | Simplify the following Boolean functions : i) Y=AB +AB 8 | L3|CO3
ii) F=B[(A+B)(B+(Q)] i) Z=B(A+C)+C.
s Hef2 o
N, T
’ AC
. 0///
3 f‘#l/ CENT

\
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adder cireuit with truth table, Realize the gireuit

b. | Explain Hatt for sum and [ 8 [ L2 | CO3
CAITY using basic pates. 4
¢. | Write ll\-:.\")1\il—m'l-:\—|\1—|—1‘|\|l|| Table of AND and OR = Gate. T4 | cos
B Module -
Q.7 |a. | Define Embedded system and explain xhc classification of Embedded | 10 | L2 | CO4
system based on Complexity and Dclcmumstlc behavior. ‘_1 ~’
‘c A Y
b. | Compare Embedded system and Gereral computing system. ¥ 6 |L1|CO4
]"— - | List out the major |ppI|L.nmn\ .m.ls of Embedded systun*ﬁ*.‘ — |alL1]co4
4 OR
QS8 ‘ With the use of dl.\bmm, cxplaln the core of an Embcddcd system. 8 | L2 | CO4
b. | Compare RISC and ClSC 6 | L1|CO4
¢. | Write a short notes on Sensors and 7 — scgmem LED displays. 6 | L2| CO4
p .
4 Module 5
Q9 |a.|With the hdp of block diagram, expl.nn the basic Communication system. | 10 | L2 | COS
b. Dct’ne Noise and explain the varlouq kmdq of noises. ~Y 10| L2 | COS
: OR ( .
Q.10 | a. | Define Multiplexing andgc‘x;plain types of Comri:u‘lll’bation systems:. .::«}?‘?:’ 8 | L2 | CO5
\ [ ~y
b. | Classify and explam the Multiple Access:chhmques -t 8 | L2 | CO5
lc. Mention the Nccd for Modulauon P‘:‘:. - ) 4 | L1 | COS
L8 N F.
Ca - \ n*’\‘(\
~ 7 4
’ £ Y ’,
: g = €3
'y, 19 g
L ' i,
Y P\ R, «
L 4
* ok ok d W
v Z=x
th’
£ 20f2
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19. Well being also invohvad reducing the risk of an injury oq :nn:y issue by

) Minimizing hazards in the work place ¥
b) Using contraceplive when having sex ) .
¢) Avoiding the use of tobacco, alcohol and illegal ._Zm
d) All of these o =
20. How docs penonality affoct health? &5
a) Failure in handle stress .. >b)Failure in activity level* *
¢) Avoiding bad habits "% d)None ofthese »
J) R
21. Which is an example for acute ru&&ﬁ.ﬂ:wn condition? !.mx 5
1) Hesnt disease &% .' b)Cancer ™
¢) Diabetss P d) Cold and cough
&9 .’
22 Healhis_ Ww )
a) Moncy 4 b)Wealth n.OcE d) Diamond
N Y
23. Whichofthe ».c_._ci-:m are not major health, uénma
3) Malnuriton ¢ b) Obesity rsﬂ«?._mo::m d) Fever

24. Preventive incasures against disease for good health

a) »<& touchmg your face % b) Stay :o:.nhwo: are sick
¢) Avoid contaminated food and water d) All c.,Ean

25. Who proposed the biopsychosocial model? o 3 Al
a) Freud E n.c-.ﬂm c) msmn_ % ofthese
26. Which of the following nESna defined —FuE.. vBBocon as “the Ecnoom of enabling
people Lo increase cdntrol over and o improve their health™? | .mw
2) Charter of Unifed Nations (1945)  &_ «b) Tokyo n:&;w._cgv
¢) Ottawa Charizr 11986) I " d) None of these
27. HIV is 2 retrovirus that infects »Eoc_o:na cells in 5«
a) Immune system N Y
b) knmune system and central pervous system f
<) Endocrine system [y Q:
& tounune system and mEr.::r system J\
»a
28 B2015, the Eovu_v-nﬁwn:nn of HIV infection was
2)02% 2 =b)04% » c) 0.6% d) 0.8%
v Yo ¥
29. In HJ Eysenck’s twenticth — R:BQ theory of personality, how did he reinterpret the
classical 1:35; ic temperament?
2) Suable exvoven & b) Stable introvert
¢) Unsiabie extroven N d) Unstable introvert

30. Is which year ‘:O did the first express “the right 10 health” as a fundamental human

nght?
2) 19% E 1952 c) 1987 d) 2000
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31

32.

33.

34.

3s.

36.

37.

38.

39.

40.

41.

42,

BSFHKI1 mm\wv_..:_ﬂnmabuucuq

How many minutes should an average person walk a 9&.&1. k4

a) 30 minutes b) 40 minutes
) 20 minutes d) 60 mirfuids
What is the recommended daily water intake? .
2)0.5 litre b) 1 litre a-_=_ﬁ d) 4 litres
Oral communication ensurcs and W _
a) Fluency and speed h b .
b) Adequate response and _E.:n__mﬁhnw?an Q
¢) Speedy interaction and mvn& 3838 4,
d) Fast and attention ( , o~
o ‘
The primary goal of 8339:8:3 is to o
a) To create bamiers :ﬁ! b) To ng noise
¢) Toeffecta nrm:mn P d) Non bf these
¢ ’
Body language play.a ‘important role in ¢
a) Communication*” J.v Judgement
c¢)BothAand B *d) None of these
F Al e

Ways to jmprove the communicatian skill: o
a) Active listening skill o b) Passive listening skill
c¢)Both Aand B " &Ao:ao..&nmn

5 ¥
Which of the following is _5_ '3 communication skill?,” . ,”..
a) Listening o b) m?.&_snr g
¢) Conversation g ._wvvuwﬁr game ’

h.u

Which of the ?:ciq.m is barmicr of’ ao..n:_nEnE.o:o J.
a) No interest in comversation «.. . = b) Ability to listed
<) H..u:%nann« and Trust ), d) None of:.&...
What is :aeu basic instincts of :EE: life? - l“o‘(
a) Self perseverance ¢ # b) Sexual instinct
3 won:_ instinct ny_(_p.r_:n wealth and property all time.

4 N
,‘,izn__ of the following s 8:.». engineering nPﬁw& the Health behaviours?
“a) Banning the ﬂwoo?hap_: drugs
b) Providing _E:mo.u water wo people, «
¢) Legalization$,cin be passed to =lro environment healthicr

.

?

d) All o..a_uoo : ™~
The source c-.u::cur_m:” and Bm?.a_v.
a) Vegetables and fruit 5, b) Coke and pizza
¢) Mutton and meat o d) Baked foods
Which of the nozcs.wnw is whole grain food?
a) Brown rice and wild rice b) Oat’s meal
¢) Ragi ball and Barley malt d) All of these
3
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27.

29.
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BICOK107/207
A proclamation of emergency issucd under Article 352 must be approached by the
Parhament within
a) 3 Months b) 2 Months <) 1 Month d) 6 Wecks

The Presadent’'s Rule in a state means that the state is ruled by
a) A caretaker Government

b) The Chief Minister nominated by President

) The Governor of the state

d) The President directly

The control of the preparation of o_nQoB_ rolls for parliament and _oEm_mE_.n rests with
2) President “~ b) Election C ommission ”
<) Cabmet o d) Prime Z__..Ee. ¢

In India. Political partics are given H.nom::.c: by

a) Election Commission by b) Speaker of Lok Sabha

<) President LV d) Law nca_:.mm.o:

Which article deals with Q.zmSEBE_ amendment E.cnnn:anm in India

a) A 370 b) A 368 c) A350 d) A 320
Center can declare Constitutional emergency in a statc under article

a) A 152 .’ b)A36S c) A 360 d) A356
The Lengthiest Constitutional amendment i India was

2) 44" amendment ~ 7 5)49™ amendment

¢) 42 amendment ) dy 92 anE_BQ.:

Election Commission conducts Qn nr.n:s: asper ./ .1 *

a) People’s wnvnnmo_ﬁ?o Act”

b) Parliament act Vs
¢) Judicial act

d) >=c_.=._nvn €Y

In terms of election laws c-. India, n_.un:c:an_.Sm ceases in a no_.r,:Er:nv. at least
hours before the commencement of the polling.

a) 48 b) 36 . ~c)24 d12
“Equal pay for Equal work™is . \
2) Gandhian principle ) b) Sonolastic principle

c) Liberal principle d) All cn these

Anticle 22 of the Indian Constitution protects:

2) Senior citizens b) Women

¢) Children "d) Rights of arrested persons.

This is not a Fundamemal Duty
2) To develop scientific temper

¢ b) To protect natural ¢cnvironment
) Not 1o indulge in corrupt practice

d) To abide by the constitution

Which one of the following directive principles can be described as Gandhian in nature?
2) Providing equal pay for equal work for both men and women.

b) Worker’s participation in management.

¢) Organwation of village panchayats as units of self-government.

d) Seperation of Judiciary from the exccutive.

Duective principles of state policies are
) Non-Justicable

¢) Only some are Justiciable

b) Justiciable
d) None of these
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38.

39.
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43.

45.

46.

47.

49,

50.

BICOK107/207

The president gives his resignation to the )
a) Chicf Justice b) Parliament ¢) Vice President d) Prime Minister
The governor of a state is appointed by the president on the advice of the

a) Prime Minister b) Vice-President ¢) Chicf Minister d) Chief Justice

Who appoints the Prime Minister of India? .
¢) Parliament

a) Lok Sabha b) President d) Citizens of India
Minimum age required to contest for office of the president
a) 23 yrs b) 21 yrs ¢) 35y d) 30 y1s

Who among the following, has the right to sanction the expenditure of public money in
India?

a) Speaker b) _u._.nz.r._n_..», Y ¢) Prime Minister’ . d) Parliament

._.rn_u::._u:..n:_m—w.rr?m-ﬁi&rwpznﬁ..:vﬁ_::xu:cﬂ _-&E _auunannEEB-vﬂ
suspended. y

a) Except by an order of the Supreme Court

b) Under any circumstances

c) Except by an order of the president during Zm:c:u_ Emergency

d) Except through an order of the President @E._:r war,

Our Constitution grants to the citizens ™ fundamental rights.
a) Six ) b) Five ) 3 Ten d) Seven

The fundamental duties of Indian citizen are contained in -
a) Part Il of Constitution , b) Part IV of Constitution
¢) The seventh schedule of the ﬁo_.E:EE: d) vun [V (a) of the Constitution

Preamble declares the oEnﬁEom of Constitution as ™

a) Secularism Ry b) Justice, Liberty, Equality and Fratemuty
<) Democratic Socialist < d) Liberalism

Secularism means™,) . N

a) Absence of State Religion “ b) Right of religious freedom

<) Equality of all religions d) All of these

Free legal assistance for ?d:caf—:v. backward vocv_a isa

a) Fundamental Right b) Fundamental duty

c) Dircctive principles of state policy d) Special provision

Indian Constitution has & N

.8) 12 schedules b) 7 schedules "€) 9 schedules d) 10 schedules
Which is not a Fundamental Right

a) Right to freedom b) Right to Equality

d) Right to property.

Three types of Justice referred in our preamble are.

a) Social, Economic and Political b) Economic, Intemational and Political
¢) Economic, Religious and Social d) Religious, Social and Political

The preamble of the Constitution of India has been amended so far

a) Four times “. b) Thrice ¢) Twive d) Once

©) Right to Consfitutional Remedies”

LR RN
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Dircctions : Rearrange the sentence :

defined as a place (a) where man is passive (b) and the rest o_. 90 nature is active (¢) a

sanctuary may be (d) % 3
a) abcd b) d,cabl,
<) bcda d) d, Pc.. i

are simply at a loss (a) of 500 and 1000 rupee notes AE all the corrupt politicians and
thetr cronics (¢) after the demonctization (d)
a) c,adb
c) deba

,s,_yu.pa N,
‘d) b,c.ad ~
Which among the following arc vw:_oa 8 _a.ns_:m‘ .

a) Forged attention N b) Poor _Eagq?o:m_ rclations
¢) Premature evaluation s IN d) Allofthese

Which among the _.o__os,:..m n_z.:_a not be implemented for m:.nn::u listening?
a) Having an open mind b) Notbemg prejudiced
c) Employing critical G_Bn_:m d) >n_n_=m irrelevant questions

A busincss letter must be. #;.(
a) written in proper format b) “short and concise
¢) polite in tone ,d) Allof these

The date on a Emsaw letter should mvqu. after the wm_._S:oP g

a) True =% b) Fals¢
< e. <
This format of the letter has the roﬁ_.:m. dateline, 8322:.58& n_owEd and signature
nght aligned. N 3 PN
2) Block format _uz:nc:_.ﬁ_ format o

¢) Modified block ac:nE 2 d) Zc:r ofthese =

ué‘

Which among the F:of:r is not to vn 3«55:.& ina Eucﬁne
2) Educational n:u__mn..:.c: “b) Work nx—xw:r_ﬁn

1&

c) Strengths =, d) Empr:ne..nm

The ~ ﬁcaE. of resume __vF .wo:- work __BSQ ‘with dates. with your most recent
emplover,and job title listed _.—?1

2) Historical b) “ Functional

¢)_ Cronological ~e .d)“All of these

BCC in an email refers o :
z) Britsh council carcers
¢) Booked 3_&8 copy -

b) Blind carbon copy
d) None of these

The cover ru:a is written, Y

2) To miroduce oneself as thésuitable candidate for the job.
b) To give biographical details of the candidate.

¢) To try for the job

¢) To bt the employgr know of our writing skills

.

VerD-3of$
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communication is a direct, written or oral communication that occurs - ¢
between two or morc persons :
a) Interpersonal b) Extra-personal

c) Intrapersonal 4 5 d) None of these
In a group discussion one must communicate w ith,

a) Hostility b) >:.om§nn

¢) Long sentences d) _Qos.ﬁama

Which among the following should not be folloyed i_.:_o appearing for n;.anﬁ_nﬁo
a) Arriving late to the venue b ﬂ:ei__._w your resume %,

¢) Being formally dressed “d)' Knowledge of the nogw

When giving a presentation in front of ,E.—anc&o:nn you w_eo:_n ao ‘all of the following

except : iy, ¢
a) Speak loud and clcar o Sad b) Provide _E_&o.:m ; nceded
c) Dress professionally o 4 d) Lack of eye contact with the audience
A group discussion checks’ uua monitors, AN
a) Leadership skills v b) Listerung ability
¢) Confidence 1y d) Allofthesc

Comumunication< helps to make accurate,, decisions and influence organizational
performance positively. *

a)True % , "b) False
) N N
Directions : Choose a suitable verb to complete the wn.:n:nn g
o~ cr
One of our employees O _.nE.Sm today. et Y R i..\
a) are L b) v. J N

by 5. ,88 of these
{ ?l

to cn blamed for hig vﬂmonan..d in the final

c) were

Either the teacher or =x.¢ m:an:.

€xam. preny -
S~ Y %
a) are o fﬁ. S is
c) were R " d) noue oEﬁf
¥ \e,

Directions's _.c___ in the Zubru s:.- uE»uEs _::.uvn_ __n_&u

His 5—.@.:8‘[‘
a) “brought in « 7
¢) “brought about "7

_=u .E_P .
.&,Igd:mrn up
~d) none of these

Henry .sm magazine ncmnwmw
a) Looked through = w2¥ b) Lookedup
¢) Looked in "] . d) None of these

J
Directions : Fill in the Blanks*
"

What actually scared us the fact that there was no one around to help us.

a) were 3] b) was
¢) with ) d) all of these
VerD-4of$
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